Volkswagen Amarok

TAILGATE STRUT KIT
Installation Instructions

S RIVAL

Model year: 2013-2016,2016-
Part No.: 2AB.ST.5806.1
Compatibility: with torsion bar
Weight: sle 1 kg
Installation time: (© 30 min
VOLKSWAGEN AMAROK TAILGATE STRUT KIT www.rivaldx4.com
2013-2016, 2016- 2AB.ST.5806.1

Installation instructions Page 4/4



M8x20  x1

x1 x1 x1 | M6x16 x1| M6x20 x1
5 El I K
(o) @ |

M8x25  x1 | @6 x1 | o8 x4

X2 x1

1]

Installation
Instructions

Required Tools

HEX 4 HEX5 TORX30 splineMi0

BTy

TORX 30

£

VOLKSWAGEN AMAROK
2013-2016, 2016-

Installation instructions Page 2/4

TAILGATE STRUT KIT
2AB.ST.5806.1

VOLKSWAGEN AMAROK
2013-2016, 2016-
Installation instructions

Page 3/4

TAILGATE STRUT KIT

2AB.ST.5806.1




